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Q1. 
The pie-chart shows the results when 120 people were askes which daily newspaper they read. 









Q2.
The graph shows the time taken for a journey at different speeds.



Describe the correlation.

Q3.
The stem and leaf chart below shows the amounts of money spent by customers in a shop :





a.
Write down 


i.  the median 

ii. the range


iii.   Q1

iv.   Q3


b.
What is the probability that a customer chosen at random has spent less than 30 pence?


Q4.
A supermarket sells packs of strawberries. A spot check was carried out on 24 packs to check the number of strawberries in each pack.


The results of the inspection are shown in the table below.


a.
Show these results on a dot plot.



b.
Is the distribution symmetric, skewed or widely spread ?


Q5.
The table below shows the weights in kilograms of a group of boys.


Show this information on a stem and leaf chart.


Q6.
A company that manufactures shoelaces spot checks the length (in cm) of the laces.


Here are the results for two different production lines.


a.
Draw a box plot for line A.



b.
On the same diagram, draw a box plot for line B. 


c.
Which is the better production line ? 
(Give a reason for your answer)


Q7.
The weight, in kilograms, of a baby each week for ten weeks is shown in the table below.


Show this on a line graph

Q8.  The weights, in kilograms, of 20 new-born babies are shown below.

Find the 
a.
median 


b.
mode 




    c.
   range.

Q9.
20 lightbulbs were tested to see how long they would last. The lifetimes of the bulbs are given below in hours.

1503
1469
1511
1494
1634
1601
1625
1492
1495
1505

1487
1493
1006
1512
1510
1599
1501
1486
1471
1598

The manufacturing company claims that the average lifetime of a lightbulb is 1500 hours. Do you agree with their claim?


Q10.
A housing trust conducted a survey in a block of flats to find out how many people were living in each house. The results are shown below.


a.
Complete the frequency table to show the results of the survey


b.
Add a cumulative frequency column to your table


c.
Write down the median.


d.
What is the modal number of people in a flat ?

Q11.
The mean number of lengths of a pool completed by 8 members of a swimming team was 18.  Seven of the totals are shown below 


       17

28

17

18

16

14

15


How many lengths were completed by the eighth member of the team ?


Q12.
The weekly takings in small store, to the nearest £, for a week in December and March are shown below.


a.
Calculate the mean takings for December and March.


 b.
Comment on any differences.


Q13.
The stem-and-leaf tables show the marks of a class of pupils in two maths tests.





a.
For each paper, calculate the median and range.


b.
In which paper did the pupils do better ?

Q14.
A die is rolled. Find the probability that it lands with

a.
 1 



b.
an odd number




c.
a prime number
d.
a multiple of 3
e.
a number less than 3



Q15.
If one of these geometric shapes is picked at random, what is the probability that it has


a.  4 sides


b.
a centre of symmetry
c.
less than 3 sides




Q16.
Darren and his friend are playing with a pack of cards from which his maths teacher has confiscated the Ace of Spades and the King of Hearts.


What is the probability that the first card he deals is 

a.
an Ace?
b.
a black card?

c.
a Queen?
d.
the 4 of clubs?


Name
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Mark 





Class





a.  Which paper is the


     most popular?





Daily News


35%





The Moon


25%





The Reporter 





20%�Others�





b.  What percentage 


     read The Reporter?





c.  How many people 


    read the Daily News ?





Speed (mph)





Time (hours)
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2(1 represents 21 pence





n = 33
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24�
15�
20�
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16�
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39�
42�
48�
38�
51�
44�
�
42�
51�
53�
42�
47�
39�
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38�
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43�
51�
47�
57�
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42�
44�
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Line A�
26.8�
27.2�
26.5�
27.0�
27.3�
27.5�
26.1�
26.4�
27.9�
27.3�
�
Line B�
26.8�
26.7�
27.1�
27.0�
26.9�
27.0�
27.3�
26.9�
27.0�
27.3�
�






week�
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�
weight (kg)�
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6.00�
6.50�
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7.15�
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weight (kg)





week





8





7





6





5





4





3





2





1





0





9





8(0





6(0





4(0





2(0
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number of people in flat�
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range – P2
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